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Second Semester (3 Year) LL.B./V Semester 5 Year B.A.LL.B.
(Maj. — Min.)/B.B.A.LL.B./B.Com.LL.B. Examination, March/April 2021
CONTRACT - 1I
(Specific Contracts)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer any five questions from group (a) each question
carries 10 marks.

2. Answer any five questions from group (b) each question
carries 06 marks.

3. Answers should be written either in English or Kannada
completely.

Q. No. 1. (a) Explain the rights of the Surety. Marks : 10
2REVEROTTT TEIRTRY, DT[ORD.

Q. No. 1. (b) Write a short note on ‘Rights of Indemnity - holder’. Marks : 6
X, TOTT HRIVSIS RN B0B) 2,00 OO 5T 29T00.

Q. No. 2. (a) Define Guarantee and explain its features. Marks : 10
2RVERITOOONE), TTNVR0 30F) W3S LFLINTI) LBORD.

Q. No. 2. (b) ‘B’ owes to ‘C’ a debt guaranteed by ‘A’. The debt becomes
payable. ‘C’ does not sue ‘B’ for a year after the debt has

become payable. Is ‘A’ discharged from his suretyship ?
Decide. Marks : 6
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Q. No. 3. (a)

Q. No. 3. (b)

Q. No. 4. (a)

Q. No. 4. (b)

Q. No. 5. (a)

Q. No. 5. (b)

Q. No. 6. (a)

Q. No. 6. (b)

Explain the duties of a Bailee.

Q@em’aﬁ (?366:; m*zsws) 53?5571%3&3{ QWORD.
Write a short note on ‘Pledge’.
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Define Lien. What are the Rights of a Bailee in respect of
lien ?
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‘A’ finds a dog and makes a reasonable efforts to trace the
true owner, but could not find him. Later ‘A’ sells that dog
to ‘B’, who buys it without knowing that ‘A’ was merely a
fmder Can the true owner recover the dog from ‘B’ ?
Decide.
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Explain the different modes of creation of agency.
ﬁ“m?mdwm -)9"’ B IEAAIA Vmﬁﬁédz QDWORD.

Write a short note on ‘Personal liability of agent’.
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What is Agency ? What are the rights of an agent ?
FOOIF LT 0TITERD ? 2.2), TOODFGIOOOD ss%m@m

‘P’ gives authority to ‘A’ to sell P’s land and to pay
himself, out of the proceeds, the debt due to him from ‘P’.
Subsequently ‘P’ revokes the authority given to ‘A’. Can
he do so ? Advise ‘P’.
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Q. No. 7.

Q. No. 7.

Q. No. 8.

Q. No. 8.

Q. No. 9.

Q. No. 9.

Q. No. 10.

Q. No. 10.

4008/5061/6025/7025

(a) Explain the different modes of dissolution of partnership firm. Marks : 10

(b)

(a)

(b)

(a)

(b)

(@)

(b)
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Write a short note on Implied authority of a partner.
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Explain the admission and retirement of partners in a
partnership firm.
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A and B, partners of a firm, admit ‘M’, a minor, as a partner.
What are the consequences of this admission of a minor
as a partner ? Decide.

WOT TOLVTIVOF? = o~o:b TPLOTTTE ‘e I ‘o, B
DODRTOT ‘e B :a’aig TOLVTOT R ﬂﬁ Nebﬁéﬁ)%@d
@15 doﬁofgwab wwmdmﬁ ag). Nemérao@d)@cﬁd
"’awmmfo ome-@@ ? DEFORRD.

Explain implied conditions and warranties provided under
the Sale of Goods Act.
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erte a short note on ‘Stoppage in transit’.
TN, AOZONT 03 BOB) %o LY e3Be WTBOW0.

Define contract of sale and distinguish sale from an
agreement to sell.
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‘A’ buys a dlamond necklace from ‘B’ and pays for it,
but leaves it in the possession of ‘B’. ‘B’ sells the same
necklace to ‘C’ for a higher price. Does ‘C’ acquire a better
title in the necklace ? Can ‘A’ institute a suit against ‘C’ for
recovery of the necklace ? Decide.
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